1. JALY )L—7 EREHEEE

(1) IREIEERFHER
JAL
EI PR HR w® &
(AN) BT | RPK(FA®) | BIEE®) | ASK(FEERE*L) | aTEt®) | FIAE®)
20115 E 6,844,772 79.8 30,313,789 79.7 43,036,984 83.2 70.4
201 ZEJ_}‘E 7,525,038 109.9 34,036,119 112.3 44,745 317 104.0 76.1
20134418 578,279 99.8 2,582,823 104.5 3,698,245 104.5 69.8
5H 587,529 97.1 2,700,281 100.8 3,799,832 103.4 711
68
1M HET 1,165,808 98.4 5,283,104 102.6 7,498,077 103.9 70.5
2013 E &t 1,165,808 98.4 5,283,104 102.6 7,498,077 103.9 70.5
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(2) ERF#R 2 75 T A1l 0 X SR AR

2013551 BER A

R BIERELL%) | RPK(FA*a) | BIERELL%) | ASK(FEERE ) | BTEEL®%)| FAE%) | FAE%

NFEER 130,488 97.8 1,018,049 100.2 1,295,017 100.4 78.6 78.8

xR 52,874 95.7 495,006 94.9 670,200 97.3 73.9 75.8

JAL EmT7 7% 238,063 109.9 858,176 112.7 1,244,301 110.2 69.0 67.4
FE7 =T 9,913 107.3 77,014 108.5 145,274 118.5 53.0 57.9

57 Lot 10,360 835 26,056 82.3 36,895 83.6 70.6 71.8

g E R 66,466 84.0 76,142 85.9 108,609 91.3 70.1 745

b E 79,338 79.9 149,808 80.0 299,518 106.3 50.0 66.5

& it 587,529 97.1 2,700,281 100.8 3,799,832 103.4 71.1 72.9




2. JALY )L—7 ERBEEE

(1) iR F S RIFEHR

JALY JL—T (JAL+JTA+JEX+J-AIR+JAC+RAC)

E RN w® &
(AN) BTEL®) | RPK(F A | BTG | ASK(FEERE ) | BTEEG | FIBZE®)
2011EEE| 28,965,514 86.9| 22,264,394 87.7| 35523214 86.5 62.7
201246 | 30,020,440 103.6]/ 23,012,898 103.4| 36,443,994 102.6 63.1
2013441 2,309,460 101.8 1,760,896 100.6 3,074,956 102.8 57.3
5A8 2,572,177 104.5 1,922,732 103.1 3,206,977 102.5 60.0
68

25170 3 HAET 4,881,637 103.2 3,683,630 101.8 6,281,932 102.6 58.6
20134 EEt 4,881,637 103.2 3,683,630 101.8 6,281,932 102.6 58.6

*F| FHEE=RPK +~ ASK



(2) EN#R IR E 77 T A B 2 SR A

2013454 HIER A

REH giEe | ety | sigEee | |z | s

H H # £ 212,406 108.1 344,889 111.8 61.6 63.7
¥ H B 7 14,822 111.0 20,625 97.3 71.9 63.0
PR H L 1 265,661 109.9 397,842 102.9 66.8 62.5
F H 27 B #) 3,597 — 8,928 - 40.3 —
H H & i 231,127 98.7 380,480 103.1 60.7 63.5
F H N g 156,495 96.2 308,355 94.3 50.8 498
PP H Z & Al 18,352 100.5 30,690 101.4 59.8 60.3
¥ H B JII 31,234 108.7 52,824 103.9 59.1 56.5
H H gl 23 16,784 85.7 30,690 95.6 54.7 61.0
¥ H ENBEL 23,468 98.2 40,782 89.0 57.5 52.1
H H & i 28,889 98.2 37,554 93.0 76.9 72.9
F H = o 44473 99.9 73,284 109.6 60.7 66.6
H H = R 16,709 91.1 30,360 102.0 55.0 61.6
F H N H 22914 98.4 40,920 99.0 56.0 56.4
H H L A 2,487 123.4 4712 152.0 52.8 65.0
F H N o 66,028 109.3 104,188 101.4 63.4 58.8
H H At HE 9,418 105.2 15,128 105.9 62.3 62.7
F H [i#] T} 29,510 115.5 51,150 103.8 57.7 51.8
F H H = 50,386 1221 63,246 102.0 79.7 66.6
F H /N = 51,320 106.1 81,840 99.1 62.7 58.6
F H a5 & 19,410 109.1 40,920 99.9 474 434
F H & = 53,695 111.3 84,639 100.1 63.4 57.1
F 22} = N 45,796 106.9 77,508 105.0 59.1 58.0
F H = % 29,697 106.1 50,820 101.5 58.4 55.9
F H 0 L 45,054 118.8 72,708 118.3 62.0 61.7
F H b A M 25278 136.7 50,985 123.3 496 447
F H PN ey 44,442 96.9 76,725 82.3 57.9 49.2
F H = I 42 691 105.9 71,832 117.0 59.4 65.6
F H e PN 65,577 109.8 105,615 110.1 62.1 62.3
F H = % 27,203 106.4 61,050 130.0 446 54.4
PR H BEREB 68,716 101.3 112,638 104.7 61.0 63.0
F H EE PN 7,355 124.0 10,230 109.6 71.9 63.6
JALY'L-7" | H H = = 5,854 105.7 8,990 97.4 65.1 60.0
F H A bi5] 11,337 123.8 17,855 127.6 58.0 59.5
54 H # 7 18,472 101.6 25556 91.8 72.3 65.3
57 H £l 1 13,409 90.2 30,690 93.9 437 455
g2 H P EEGED) 17,621 100.3 35,892 93.0 49.1 455
5 H 12 ] 9,826 96.0 29,700 90.9 33.1 31.3
54 H E 4 4674 1175 9,393 97.5 498 413
# £ £l [ 24,489 153.3 29,576 153.8 82.8 83.1
# F 12 ] 17,290 2971 38,007 443 4 455 67.9
# £ 7B 1 27,805 100.4 31,000 100.0 89.7 89.3
# F [ES] e 2,388 - 3,000 - 79.6 —
# P = 7 9,329 97.1 12,876 100.6 72.5 75.0
# & = R 3,118 - 4712 - 66.2 -
# T LN 28] 7,329 100.3 12,524 115.3 58.5 67.3
#F F i & 10,968 104.0 18,772 127.8 58.4 71.8
# T Ly i 7,167 99.4 10,812 87.2 66.3 58.2
# 7t 1l = 25,522 124.0 43,855 153.7 58.2 72.2
# o 3 2l 9,304 116.1 16,300 115.3 57.1 56.7
& ol 19 /R A B 2,818 119.8 4216 100.1 66.8 55.9
# T H = 11,604 125.6 17,884 114.9 64.9 59.3
#F F [ g 2,979 85.6 4,292 93.5 69.4 75.9
# T N L 4,386 - 9,200 - 477 —
#F 1 X o 4,770 118.4 10,812 172.8 44 1 64.4
F ol 5 = 9,042 133.6 14,336 154.0 63.1 72.7
#F 1 HE X 7,523 106.3 11,460 121.2 65.6 74.8
F 7 = I 12,990 81.0 27,672 126.4 46.9 73.2
# 1 B R B 20,321 94.7 31,968 98.2 63.6 65.9
# B B A B 3,348 104.0 4514 100.0 74.2 71.3
__F BERE 5,697 103.9 9,900 90.9 57.5 50.4
| B4 i) AL, i 29,188 83.2 47100 79.3 62.0 59.1
5 ] E £ 27,438 85.4 36,275 91.4 75.6 80.9
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201354 BTER A
_ _ REH gigteen) | RutEms | aigke | A= | MAEG)
£ i) a 1= 4,863 66.7 9,010 98.5 57.1 72.7
#l. & i Al 6,243 133.8 10,812 118.8 57.7 51.3
I % = o 8,042 112.9 12,268 132.6 65.6 77.0
] % N H 4,667 70.6 9,204 84.3 50.7 60.6
] 5 it &= 7,606 104.7 13,912 146.8 54.7 76.6
L [ i a 10,727 116.7 18,724 155.4 57.3 76.3
} % o i) 2,992 - 6,200 - 48.3 -
£l [ I g 6,655 99.0 10,230 100.0 65.1 65.7
P EGED) AL [ 30,350 108.1 50,985 116.6 595 64.2
P GED) E:IH 5 25,399 98.5 36,280 100.6 70.0 71.5
1B fid AL [ 17,680 89.9 32,364 100.1 54.6 60.8
18 7] 3B 3 37,239 114.1 54,230 100.5 68.7 60.5
_f& fif] it #% 1,802 111.6 3,100 100.0 58.1 52.1
) fit] il a 5,144 58.8 9,424 84.2 54.6 78.1
) fidl H = 3,283 110.7 4,464 100.0 73.5 66.4
_f& it & B 2,933 112.2 4,464 100.0 65.7 58.5
1B fif] 2 pall 4425 107.5 8,260 98.0 53.6 488
_f& ] N 1l 10,241 115.2 15,624 116.6 65.5 66.4
_f& fid] = % 24,553 101.4 45,956 111.3 53.4 58.7
__f& it B R E 2,131 72.2 4,464 48.5 47.7 32.1
JALY V-7 |_ 1@ e B AE 1,681 110.7 2,166 98.2 71.6 68.8
1B [&l TBEKXKE 2,860 133.8 4588 100.0 62.3 46.6
B 2 /] [N 4509 75.5 8,990 100.0 50.2 66.4
B £ fif] L 7,814 55.1 9,280 56.8 84.2 86.8
E Y £ = =) 47528 104.7 73,198 97.7 64.9 60.6
A £ =l | 42,739 86.7 75,403 80.5 56.7 52.6
B 2 It X & 927 116.3 1,170 103.4 79.2 705
A E MK =H 2,475 104.5 4,082 101.4 60.6 58.8
E Y £ 5 A 1,866 108.9 3,056 125.2 61.1 70.2
E: 1 5 A KB 15,834 104.2 24,600 93.7 64.4 57.9
] 5 TEKXE 1,231 106.6 2,401 99.3 51.3 478
E:Il E7 5 B = 1,273 259.8 2,418 258.3 52.6 52.4
H E [ 5 1,074 99.9 2,232 103.3 481 49.8
B R B /N 1l 1,981 161.3 4,464 167.1 444 46.0
B IR E 2+ 5 4978 84.0 8,368 77.1 59.5 54.7
B R E B A B 12,116 106.6 19,821 106.8 61.1 61.2
B IR E =ERE 2,555 96.2 4194 102.7 60.9 65.1
B R E TBEKXE 19,974 110.6 33,714 105.5 59.2 56.5
B IR E m 2z 5 10,181 103.3 17,756 96.4 57.3 53.5
B R B 7k BEB 5,592 100.9 10,471 95.3 53.4 50.4
BRE 5 5 i 1,977 113.3 4434 101.7 446 40.0
TBEKXE ERE 2,703 92.1 6,120 96.0 442 46.1
SE PN m 2z 5 2,031 103.4 4,392 101.7 46.2 455
e PN 7k BEB 619 96.9 1,080 100.0 57.3 59.2
E PN 5 s 414 86.4 1,044 96.5 39.7 443
ok RER 5 # 530 99.6 1,011 98.0 52.4 51.6
= =) a iz 3,234 74.6 4,836 70.9 66.9 63.5
= =) Z B B 2,567 96.2 4,758 100.8 54.0 56.6
a 8 5 #_= 4381 826 7.254 71.5 60.4 52.3
d X = BN 842 96.8 1,170 100.0 72.0 74.4
& =1 2572177 104.5 4.261.286 - 103.9 60.4 60.0
RTS8+ T2 B B

) BEHERFYy—2—B. 3R 7EEEAFET .

*1 D HTE R A FI A FE=RPK+ASK



3. JALY IV—T BB (EifXEiE

(1) BB EHERE

JALY J)L—7 (JAL+JTA+JEX+J-AIR+JAC+RAC)

Bl ElE
Y HE Y BE
V] BITEE Lb (%) ko BIEELE(%) b BIT4E Lb(%) [ BITEE Lb (%)

20011 EEE 237,605 60.0 28,960 88.8 381,652 86.7 27,580 98.3
20124 E 248,121 104.4 26,814 92.6 386,249 101.2 26,955 97.7
201344R8 20,773 100.9 2,384 111.3 31,751 101.4 2,278 104.7
5H 20,917 105.5 2,438 116.4 31,461 102.1 2,380 111.0

68
F1MFHAET 41,690 103.1 4,823 113.8 63,212 101.7 4,658 107.8
2013 EEt 41,690 103.1 4,823 113.8 63,212 101.7 4,658 107.8




4. JALY )V —7 5 AERiR

_ AL

ERNE [E| R 4R JAL
L eEE | keE | swE | Ers | &5
15 fi {5 2 18,063] 3,891 o] 38911 21,954
158 fi, 2= (%) 996] 100.0 -| " 100.0 99.7
TERFH R E (%) 96.5 94.2 - 94.2 96.1
ERE 638 225 0 225 863
FxIZXBED 5 6 0 6 11
A B (C L DD 53 16 0 16 69
At 4l [ K DED 473 38 0 38 511
Z Dt 107 165 0 165 272
R fE 68 0 0 0 68
FIEIZEHED 19 0 0 0 19
A S (C K DD 9 0 0 0 9
iAf 7l [ K DED 35 0 0 0 35
ZDfth 5 0 0 0 5
B 89t LIAr A~ D 75 BE(E 5 1 0 1 6
KEIZ£HED 5 0 0 0 5
HEA S E(C L A1 0 1 0 1 1
Z D1t 0 0 0 0 0
FhADF|EZRLE 13 1 0 1 14
K[ £HEHD 7 0 0 0 7
HEM B E(C L BHED 4 1 0 1 5
Z N 2 0 0 0 2

JTA | RAC | JAC JALT JL—J&F

ERE | ERR | ERR | ERER EfRER JIL—7
L REE | KEE | kEE | keE | keE | swE | EEE | #E
PEREES 2282 12371 4830] 26412] 3891 o] 3891] 30,303
12 i 32 (%) 995 96.8 97.6 9921 100.0 - 100.0 99.3
TERFH F 3 (%) 96.8 91.1 95.7 96.5 94.2 — 94.2 96.2
EFE 72 - 210 920 225 0 225 1,145
KE|ZXHED 4 - 7 16 6 0 6 22
M EIC L DTN 2 - 10 65 16 0 16 81
uerreml) (£ A% D 41 - 168 682 38 0 38 720
ZDih 25 - 25 157 165 0 165 322
RAniE 12 - 121 201 0 0 0 201
KE|[ZXHED 0 - 84 103 0 0 0 103
M EE(C L 51D 2 - 6 17 0 0 0 17
uerreml) [ £ 5% D 9 - 29 73 0 0 0 73
ZDih 1 - 2 8 0 0 0 8
B B9 LISL A~ D 75 BE(E 0 - 7 12 1 0 1 13
KlE[ZkHED 0 - 7 12 0 0 0 12
HEAM A E(C L BT 0D 0 . 0 0 1 0 1 1
ZDith 0 — 0 0 0 0 0 0
FEhADE|=IRLUIE 1 - 20 34 1 0 1 35
KlE[ZkHED 1 - 20 28 0 0 0 28
HEAM A E(C L BHE0 0 - 0 4 1 0 1 5
g2 0 - 0 2 0 0 0 2

ERFHERILEMLLEOSLHETFERZIVISHUAICHREL-EDRE

-BREFEFHEFERZINSIGHLURICHRELGEN S -EARR



